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 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 11 h¢ & 

(I) Please check that this question 

paper contains 11 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>42 àíZ h¢ & 

(III) Please check that this question 

paper contains 42 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 
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answer-book before attempting it. 
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10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

 at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the answer-

book during this period. 
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  

(a) Bg àíZ-nÌ _| Xmo IÊS> h¢  & IÊS> H$ … amoµOJma H$m¡eb Am¡a IÊS> I … {df` H$m¡eb & 

(b) IÊS> H$ … amoµOJma H$m¡eb (10 A§H$) 

(i)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 

(ii)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(c) IÊS> I … {df` H$m¡eb (50 A§H$) 

(i)  {XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 

(ii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(iii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 

(iv)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 

(d) Bg àíZ-nÌ _| 42 àíZ em{_b h¢ {OZ_| go 30 àíZm| Ho$ CÎma XoZo h¢ & 

(e) g^r àíZm| Ho$ {deof ^mJ /IÊS> H$mo ghr H«$_ _| H$s{OE &  

(f) A{YH$V_ g_` 3 K§Q>o h¡ &  

 

IÊS> H$ 

   (amoµOJma H$m¡eb) (10 A§H$)  

{XE JE 6 àíZm| ‘| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 14=4 

1. {deofUm| Ed§ {H«$`m-{deofUm| _| AÝVa ñnï> H$s{OE &  1 

2. EŠgob _| {ZåZ{b{IV H$s~moS>© em°Q>©-H$Q H$m à`moJ {H$g {bE {H$`m OmVm h¡ ? > 1 

(A) Ctrl + N 

(B) Ctrl + O 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(a) This question paper consists of two sections viz. Section A : Employability 

Skills and Section B : Subject Skills. 

(b) Section A : Employability Skills (10 Marks) 

 (i) Answer any 4 questions out of the given 6 questions of 1 mark each. 

 (ii) Answer any 3 questions out of the given 5 questions of 2 marks each. 

(c) Section B : Subject Skills (50 Marks)  

 (i) Answer any 10 questions out of the given 12 questions of 1 mark each. 

 (ii) Answer any 5 questions out of the given 7 questions of 2 marks each. 

 (iii) Answer any 5 questions out of the given 7 questions of 3 marks each. 

 (iv) Answer any 3 questions out of the given 5 questions of 5 marks each. 

(d) This question paper contains 42 questions out of which 30 questions are to be 

answered.  

(e) All questions of a particular part/section must be attempted in the correct 

order.  

(f) The maximum time allowed is 3 hours.  

SECTION A 

 (Employability Skills) (10 Marks)  

Answer any four questions out of the given 6 questions of 1 mark each. 14=4 

1. Distinguish between adjectives and adverbs.  1 

2. For what are the following keyboard shortcuts applied in Excel ?  1 

(A) Ctrl + N 

(B) Ctrl + O 
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3. {ZåZ{b{IV _| go H$m¡Z-gm EH$ ì`{º$Ëd {dH$ma H$m CXmhaU h¡ ?  1 

(A) ^amogo_ÝX 

(B) Y¡`©dmZ 

(C) A{^ào[aV 

(D)  Am{lV 

4. EH$ H$_©Mmar VWm EH$ CÚ_r Ho$ ~rM AÝVa Ho$ {H$Ýht Xmo {~ÝXþAm| H$m C„oI H$s{OE &  1 

5. gm¡a Ed§ ndZ D$Om© _| Xmo J«rZ Om°~m| H$mo ~VmBE &  1 

6. AmË_-{dídmg H$m Š`m AW© h¡ ?  1 

 

{XE JE 5 àíZm| ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 23=6 

7. EH$ AÀN>o lmoVm Ho$ JwUm| H$mo ~VmBE &  2 

8. EŠgob _| Am°Q>mo{\$b µ\$sMa H$mo g_PmBE &  2 

9. emar[aH$ Ed§ _Zmod¡km{ZH$ A{^àoaU go Amn Š`m g_PVo h¢ ?  2 

10. VZmd à~ÝYZ H$s {H$Ýht Mma VH$ZrH$m| H$m C„oI H$s{OE &  2 

11. J«rZhmCg J¡g CËgO©Z H$mo KQ>mZo Ho$ {H$Ýht Mma Cnm`m| H$m C„oI H$s{OE &  2 

IÊS> I 

 ({df¶ H$m¡eb) (50 A§H$)  

{XE JE 12 àíZm| ‘| go {H$Ýht Xg àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 110=10 

12. {ZåZ{b{IV _| go H$m¡Z-gr nm°{bgr gm_mÝ` ~r_m Ho$ AÝVJ©V Zht  AmVr h¡ ?   1 

(A) ì`{º$JV XþK©Q>Zm nm°{bgr  

(B) {M{H$Ëgm Xmdm nm°{bgr 

(C) OrdZ ~r_m nm°{bgr 

(D)  g|Y_mar Ed§ Mmoar nm°{bgr 
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3. Which one of the following is an example of personality disorder ?   1 

(A) Reliable  

(B) Patient  

(C) Motivated  

(D) Dependent  

4. State any two points of difference between an employee and an 

entrepreneur.  1 

5. State two green jobs in solar and wind power.  1 

6. What is meant by self-confidence ?  1 

Answer any three questions out of the given 5 questions of 2 marks each. 23=6 

7. State the qualities of a good listener.   2 

8. Explain the Autofill feature in Excel.    2 

9. What do you mean by Physiological and Psychological motivation ?  2 

10. State any four techniques of stress management.   2 

11. State any four measures for reducing greenhouse gas emissions.  2 

 

SECTION B 

  (Subject Skills) (50 Marks)  

Answer any ten questions out of the given 12 questions of 1 mark each. 110=10 

12. Which of the following policies is not covered under general insurance ?  1 

(A) Personal Accident Policy  

(B) Mediclaim Policy   

(C) Life Insurance Policy  

(D) Burglary and Theft Policy  
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13. ~m‹T> go hmoZo dmbr hm{Z Ho$ {bE `h nm°{bgr àXmZ H$s OmVr h¡ :  1 

(A) g_wÐr 

(B) A{½Z 

(C) ñdmñÏ` 

(D)  g|Y_mar 

14. hb g_wÐr ~r_m nm°{bgr gå~pÝYV h¡ 1 

(A) OhmOm| Ho$ ~r_m go  

(B) OhmOm| _| aIo _mb Ho$ ~r_m go  

(C) _mJ©ñW _mb Ho$ ~r_m go  

(D)  Cn`w©º$ _| go {H$gr go Zht  

15. {d{^Þ ñWmZm| na pñWV JmoXm_m| _| aIo JE _mb H$mo EH$ hr AZw~ÝY Ho$ AÝVJ©V H$da H$aZo 
dmbr A{½Z ~r_m nm°{bgr `h h¡ :   1 

(A) {d{eï> nm°{bgr 

(B) Am¡gV nm°{bgr 

(C) ApñWa `m Iwbr nm°{bgr 

(D)  ì`mnH$ nm°{bgr 

16. gm±n Ho$ H$mQ>Zo go hþB© _¥Ë`w H$da hmoVr h¡  1 

(A) ñdmñÏ` ~r_m Ho$ AÝVJ©V 

(B) ì`{º$JV XþK©Q>Zm ~r_m Ho$ AÝVJ©V 

(C) A{½Z ~r_m Ho$ AÝVJ©V 

(D)  Cn`w©º$ _| go {H$gr Ho$ AÝVJ©V Zht  

17. àr{_`_ H$m AW© h¡ 1 

(A) Xmdo H$s am{e 

(B) n[anŠdVm am{e 

(C) g_n©U _yë` 

(D)  ~r_m AZw~ÝY Ho$ AÝVJ©V ~r{_V Ûmam {X`m J`m à{V\$b 
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13. This policy is provided to cover loss caused by floods :   1 

(A) Marine  

(B) Fire  

(C) Health  

(D) Burglary  

14. Hull marine insurance policy is concerned with the insurance of  1 

(A) Ships   

(B) Goods on ships  

(C) Goods in transit  

(D) None of the above  

15. This is the fire insurance policy covering goods stored in godowns located 

at different places under a single contract :    1 

(A) Specific policy  

(B) Average policy  

(C) Floating policy  

(D) Comprehensive policy  

16. Death on account of snake bite is covered under  1 

(A) Health Insurance   

(B) Personal Accident Insurance  

(C) Fire Insurance   

(D) None of the above  

17. Premium means  1 

(A) Claim amount  

(B) Maturity amount  

(C) Surrender value  

(D) Consideration paid by the insured under a contract of insurance  
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18. Or.AmB©.gr. (ar) Ûmam AmOH$b Š`m ì`dgm` {H$`m OmVm h¡ ?  1 

19. `{X < 5 bmI go ~r_m H$amE JE EH$ dmhZ _| < 3 bmI H$s j{V hmo JB© hmo VWm MwH$m`m 
J`m àr{_`_ < 50,000 hmo, Vmo ~r{_V _______ Ho$ {bE Xmdm àñVwV H$a gH$Vm h¡ &   1 

(A) < 50,000 

(B) < 3,00,000 

(C) < 3,50,000 

(D)  < 5,00,000  

20. Š`m EH$ Am¡Úmo{JH$ CnH«$_ EH$ df© go A{YH$ Ad{Y Ho$ {bE A{½Z ~r_m nm°{bgr àmá H$a 
gH$Vm h¡ ?   1 

21. gmd©O{ZH$ ñWmZm| na MbmE OmZo dmbo _moQ>a dmhZm| Ho$ {bE {H$g àH$ma H$s nm°{bgr 
A{Zdm`© h¡ ?   1 

22. EH$ g_wÐr ~r_m _| ~r_m`mo½` {hV {H$g g_` {dÚ_mZ hmoZm Amdí`H$ h¡ ?  1 

23. {H$g àH$ma H$s {M{H$Ëgm Xmdm nm°{bgr Ho$ AÝVJ©V Amn H$moB© ^wJVmZ {H$E {~Zm AñnVmb 
_| BbmO H$adm gH$Vo h¢ ?  1 

 

{XE JE 7 àíZm| ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 25=10 

24. ~r_m AZw~ÝYm| VWm OwAm Ho$ g_Pm¡Vm| Ho$ ~rM Ho$ {H$Ýht Xmo AÝVam| H$m C„oI H$s{OE &   2 

25. n[aUm_r hm{Z A{½Z nm°{bgr Š`m h¡ ?   2 

26. Š`m g_wÐr ~r_m nm°{bgr g_wÐr VWm Wb XmoZm| Ho$ Omo{I_m| H$mo H$da H$aZo Ho$ {bE br Om 

gH$Vr h¡ ?  2 

27. V¥Vr` nj _moQ>a dmhZ ~r_m Ho$ VrZ njH$mam| Ho$ Zm_ {b{IE &  2 

28. ì`{º$JV XþK©Q>Zm ~r_m VWm {M{H$Ëgm Xmdm ~r_m Ho$ _Ü` {H$Ýht Xmo AÝVam| H$mo ~VmBE &  2 

29. ‘ES>-Am°Z H$da’ Š`m h¡ ? g|Y_mar ~r_m go gå~pÝYV EH$ CXmhaU Xr{OE &  2 

30. _moQ>a dmhZ nm°{b{g`m| _| eyÝ` Xmdm (Zmo-Šbo_) ~moZg Š`m h¡ ?  2 
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18. What business is now being carried out by G.I.C. (Re) ?  1 

19. If the amount of loss caused to a vehicle insured for < 5 lakh is < 3 lakh 

and the premium paid is < 50,000, the insurer can file a claim for   1 

(A) < 50,000  

(B) < 3,00,000 

(C) < 3,50,000  

(D) < 5,00,000  

20. Can an industrial undertaking obtain a fire insurance policy for a period 

exceeding one year ?  1 

21. Which type of policy is mandatory for motor vehicles plying in public 

places ?   1 

22. At what period of time must insurable interest exist in a marine 

insurance ? 1 

23. Under which type of Mediclaim policy can you get treatment in a hospital 

without making any payment ?  1 

Answer any five questions out of the given 7 questions of 2 marks each. 25=10 

24. State any two differences between Insurance contracts and Wagering 

agreements.  2 

25. What is Consequential Loss Fire Policy ?  2 

26. Can Marine Insurance Policy be obtained for covering both sea and land 

risks ?   2 

27. Name the three parties in a Third Party Motor Vehicle Insurance.  2 

28. Give any two differences between Personal Accident Insurance and  

Mediclaim Insurance.   2 

29. What is an ‘add-on cover’ ? Give an example related to burglary 

insurance.  2 

30. What is No-claim bonus in motor vehicle policies ?  2 
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{XE JE 7 àíZm| ‘| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 3 A§H$ H$m h¡ & 35=15 

31. EH$ _mbJmoXm_ _| aIm Am{g\$ H$m _mb Zï> hmo OmVm h¡ & Am{g\$ H$mo CgH$m nyam _yë`  
< 10 bmI ~r_m H$ånZr go {_b OmVm h¡ & {\$a dh _mbJmoXm_ Ho$ ñdm_r go ^r  
< 10 bmI dgyb H$a boVm h¡ & ~r_m H$ånZr Am{g\$ go `h aH$_ _m±JVr h¡ naÝVw Am{g\$ 
Eogm H$aZo go _Zm H$aVm h¡ & AmnH$m Bg _m_bo _| Š`m {ZU©` hmoJm ? H$maU XoVo hþE CÎma  
Xr{OE &   3 

32. AéU EH$ _H$mZ H$m ñdm_r h¡ {OgH$m A{½Z go hm{Z H$m ~r_m {H$`m hþAm h¡ & AéU Ka 
~§erYa H$mo ~oM XoVm h¡ naÝVw nm°{bgr H$m hñVm§VaU Zht H$aVm & CgHo$ ~mX _H$mZ AmJ go 
j{VJ«ñV hmo OmVm h¡ ? Š`m AéU `m ~§erYa ~r_m H$ånZr go j{Vny{V© H$adm gH$Vo h¢ ? 

`hm± ~r_m H$m H$m¡Z-gm {gÕmÝV bmJy {H$`m OmEJm ?  3 

33. CXmhaU XoVo hþE dmñV{dH$ gånyU© g_wÐr hm{Z VWm aMZmË_H$ gånyU© g_wÐr hm{Z H$mo 
g_PmBE &  3 

34. _moQ>a dmhZ ~r_m H$s Amdí`H$Vm H$mo g_PmBE &  3 

35. amoH$‹S> a{hV ñdmñÏ` ~r_m Ho$ AÝVJ©V Xmdm à{H«$`m H$mo ~VmBE &   3 

36. g|Y_mar Ed§ Mmoar ~r_m nm°{b{g`m| Ho$ AÝVJ©V _w»` AndO©Z Š`m hmoVo h¢ ? 3 

37. ‘‘~r_m Ho$ AZw~ÝY na_ gX²{dídmg Ho$ AZw~ÝY hmoVo h¢ &’’ g_PmBE & 3 

{XE JE 5 àíZm| ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 5 A§H$ H$m h¡ & 53=15 

38. IRDAI H$s ñWmnZm Š`m| H$s JB© Wr ? Bg àm{YH$aU H$mo {XE JE A{YH$mam| H$m g§jon _| 
C„oI H$s{OE &  5 

39. A{½Z ~r_m Š`m hmoVm h¡ ? A{½Z ~r_m AZw~ÝY H$s {H$Ýht Mma {deofVmAm| H$mo g_PmBE &  5 

40. g|Y_mar Ed§ Mmoar ~r_m Ho$ AÝVJ©V Xmdm àñVwV H$aZo H$s à{H«$`m H$m g§jon _| dU©Z  
H$s{OE &  5 

41. {M{H$Ëgm Xmdm nm°{bgr Š`m hmoVr h¡ ? BgH$s _w»` {deofVmAm| H$mo ~VmBE &  5 

42. g_wÐr ~r_m AZw~ÝYm| Ho$ g§X^© _| gm_mÝ` Am¡gV VWm {deof Am¡gV H$mo g_PmBE &  5 
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Answer any five questions out of the given 7 questions of 3 marks each. 35=15 

31. Asif ’s goods in a warehouse are destroyed. Asif  gets its full value  

< 10 lakh from the insurance company. Then he recovers < 10 lakh from 

the owner of the warehouse also. The insurance company claims this 

amount from Asif but Asif refuses to do so. What will be your decision in 

this case ? Answer giving reason.    3 

32. Arun is the owner of a house which is insured against fire. Arun sells the 

house to Banshidhar but does not transfer the policy. Thereafter the 

house is damaged by fire. Can Arun or Banshidhar get indemnified by 

the insurance company ? Which principle of insurance will be applied 

here ?     3 

33. Explain giving examples the actual total marine loss and constructive 

total marine loss.  3 

34. Explain the need for motor vehicle insurance.  3 

35. State the claim procedure under Cashless health insurance.  3 

36. What are the main exclusions in Burglary and Theft insurance policies ?  3 

37. ‘‘Contracts of Insurance are the contracts of utmost good faith.’’ Explain.  3 

 

Answer any three questions out of the given 5 questions of 5 marks each. 53=15 

38. Why was IRDAI established ? State in brief the powers given to this 

authority.  5 

39. What is fire insurance ? Explain any four characteristics of a fire 

insurance contract.  5 

40. Describe in brief the procedure of filing a claim under Burglary and Theft 

insurance.  5 

41. What is a Mediclaim policy ? State its main characteristics.  5 

42. Explain General Average and Particular Average with reference to 

Marine Insurance contracts.  5 

 


